#### **INVITATION TO BID**

City of Ann Arbor Guy C. Larcom Municipal Building Ann Arbor, Michigan 48107

#### Ladies and Gentlemen:

The undersigned, as Bidder, declares that this Bid is made in good faith, without fraud or collusion with any person or persons bidding on the same Contract; that this Bidder has carefully read and examined the bid documents, including Advertisement, Human Rights Division Contract Compliance Forms, Notice of Pre-Bid Conference, Instructions to Bidders, Bid, Bid Forms, Contract, Bond Forms, General Conditions, Standard Specifications, Detailed Specifications, all Addenda, and the Plans and understands them. The Bidder declares that it conducted a full investigation at the site and of the work proposed and is fully informed as to the nature of the work and the conditions relating to the work's performance. The Bidder also declares that it has extensive experience in successfully completing projects similar to this one.

The Bidder acknowledges that it has not received or relied upon any representations or warrants of any nature whatsoever from the City of Ann Arbor, its agents or employees, and that this Bid is based solely upon the Bidder's own independent business judgment.

The undersigned proposes to perform all work shown on the plans or described in the bid documents, including any addenda issued, and to furnish all necessary machinery, tools, apparatus, and other means of construction to do all the work, furnish all the materials, and complete the work in strict accordance with all terms of the Contract of which this Bid is one part.

In accordance with these bid documents, and Addenda numbered ONE, the undersigned, as Bidder, proposes to perform at the sites in and/or around Ann Arbor, Michigan, all the work included herein for the amounts set forth in the Bid Forms.

The Bidder declares that it has become fully familiar with the liquidated damage clauses for completion times and for compliance with City Code Chapter 112, understands and agrees that the liquidated damages are for the non-quantifiable aspects of non-compliance and do not cover actual damages that may be shown and agrees that if awarded the Contract, all liquidated damage clauses form part of the Contract.

The Bidder declares that it has become fully familiar with the provisions of Chapter 14, Section 1:319 (Prevailing wages) and Chapter 23 (Living Wage) of the Code of the City of Ann Arbor and that it understands and agrees to comply, to the extent applicable to employees providing services to the City under this Contract, with the wage and reporting requirements stated in the City Code provisions cited. Bidder further agrees that the cited provisions of Chapter 14 and Chapter 23 form a part of this Contract.

The Bidder encloses a certified check or Bid Bond in the amount of 5% of the total of the Bid Price. The Bidder agrees both to contract for the work and to furnish the necessary Bonds and insurance documentation within 10 days after being notified of the acceptance of the Bid.

If this Bid is accepted by the City and the Bidder fails to contract and furnish the required Bonds and insurance documentation within 10 days after being notified of the acceptance of this Bid, then the Bidder shall be considered to have abandoned the Contract and the certified check or Bid Bond accompanying this Bid shall become due and payable to the City.

If the Bidder enters into the Contract in accordance with this Bid, or if this Bid is rejected, then the accompanying check or Bid Bond shall be returned to the Bidder.

In submitting this Bid, it is understood that the right is reserved by the City to accept any Bid, to reject any or all Bids, to waive irregularities and/or informalities in any Bid, and to make the award in any manner the City believes to be in its best interest.

SIGNED THIS DAY OF	RCH, 201 <u>4</u> .
DOAN CONSTRUCTION CO.	OML V.P.
Bidder's Name 3670 CARPENTER RP	Authorized Signature of Bidder
YPSILANTI, MI 48197	Jim Mchair
Official Address	(Print Name of Signer Above)
734-323-3642	JMCHNIS@DOANCOMPANIES. COM
Telephone Number	Email Address for Award Notice

# LEGAL STATUS OF BIDDER

(The Bidder s Bidder declar	shall fill out the appropriate form and strike out the other two.)  res that it is:
	* A corporation organized and doing business under the laws of the state of MICHIGAM, for whom Jim McINAII, bearing the office title of V. P., whose signature is affixed to this proposal, is authorized to execute contracts.
	* A partnership, list all members and the street and mailing address of each:
	Also identify the County and State where partnership papers are filed:
	County of, State of
_	* An individual, whose signature with address, is affixed to this proposal (initial here)
-	

# Section 1-Schedule of Prices

Project: 2014 Ramp & Sidewalk Repair Project

File #: 2014-021 Bid #: 4320

<u>Item</u>	Description	<u>Unit</u>	Estimated Quantity	Unit Price Total Price
201	Project Supervision, Max \$35,000	L.S.	1	<u>\$ 1.00 </u> \$ 1.00
202	General Conditions, Max \$30,000	L.S.	1	<u>\$ 1.00                                  </u>
203	Traffic Control, Max \$40,000	L.S.	1	\$ <u>/,00</u> \$ <u>/,00</u>
207	Remove HMA Pavement	S.F.	17,300	\$ 0.50 \$ 8,650.00
208	HMA Patching	TON	420	\$ 50.00 \$ 21,000.00
210	Subgrade Undercutting - Type II	C.Y.	20	\$ 25,00 \$ 500,00
211	21AA Limestone - C.I.P.	C.Y.	20	\$ 25.00 \$ 500.00
212	Subgrade Undercutting Type II and Class II Granular Backfill	S.F.	34,000	\$ <u>0.40</u> \$ 13,600.00
215	Remove Curb & Gutter - Any Type	L.F.	7,300	\$ 11.18 \$ 81,650,00 81614
216	Remove Concrete Pavement (Repair) - Any Thickness	S.Y.	20	s Z5.00 s S00.00
217	Remove Concrete Sidewalk or Drive - Any Thickness	S.F.	168,000	\$ 1.00 \$ 168,000.00
220	Concrete Pavement Repair - High Early	S.Y.	20	\$ 25,00 \$ 500,00
221	Concrete Curb & Gutter - Any Type	L.F.	6,700	\$ 32.46 \$ Z17,482,00
222	Concrete Curb & Gutter - Any Type - High Early	L.F.	700	\$ 24.15 \$ 16,905,00
223	4-inch Sidewalk or Ramp	S.F.	126,000	\$ 5.43 \$ 684,180.00
224	6-inch Drive Approach, Ramp, or Sidewalk	S.F.	38,000	\$ 8,61 \$ 327,180.00
225	6-inch Drive Approach, Ramp, or Sidewalk - High Early	S.F.	4,400	s 8,61 s 37,884.00
226	8-inch Fibermesh Reinforced Concrete - High Early	S.F.	2,200	\$ 3,00 \$ 6,600.00
230	Detectable Warning, Cast In Place	S.F.	4,200	
			TOTA	(Also to be entered on Page BF-2)

# Section 1-Schedule of Prices

Project: 2014 Ramp & Sidewalk Repair Project

File #: 2014-021 Bid #: 4320

<u>Item</u>	<u>Description</u>	<u>Unit</u>	Estimated Quantity	Unit Price Total Pr	<u>ice</u>				
232	Surface Applied Detectable Warning	S.F.	100	0.01 \$ 1.00	<u>ر</u>				
235	Integral Sidewalk Retaining Wall (6" or less)	S.F.	560	2.00 \$ 1,12	0,00				
236	Integral Sidewalk Retaining Wall (6"-18")	S.F.	700	2.00 \$ 1,40	0,00				
237	Integral Sidewalk Retaining Wall (18"-36")	S.F.	30	50,00 \$ 1,50	0,00				
239	Modular Sidewalk Installation	S.F.	1,000	0.01 \$ 10.0	00				
250	Adjust Structure Cover	EACH	5	<u>25.00</u> \$ 125.	00				
251	Adjust Curb Inlet Cover	EACH	5	<u>25.00</u> \$ 125.0	00				
252	Adjust Monument or Valve Box	EACH	5	25.00 \$ 125.0	20				
253	Adjust Traffic Signal Handhole	EACH	5	25.00 \$ 125.0	20_				
254	Manhole Flange & Cover	EACH	2	250,00\$ 500,	00				
255	Inlet Structure Cover	EACH	4	250,00 \$ 1,000	3.00				
256	Point Structure	EACH	2	25.00 s 50,	00				
260	Mulch Blanket	S.Y.	10,400	1.00 \$ 10,4	00,00				
262	Class A Sod	S.Y.	100	5,00 \$ 500	.00				
	TOTAL PAGE BF-2 \$ 16,981.00  (Also to be entered below)								

TOTAL FROM PAGE BF-1 \$ 1,690,092,00

TOTAL FROM PAGE BF-2 \$ 16,981,00

TOTAL BASE BID: \$ 1,707,073.00

# Section 2 - Material and Equipment Alternates

The Base Bid proposal price shall include materials and equipment selected from the designated items and manufacturers listed in the bidding documents. This is done to establish uniformity in bidding and to establish standards of quality for the items named.

If the Contractor wishes to quote alternate items for consideration by the City, it may do so under this Section. A complete description of the item and the proposed price differential must be provided. Unless approved at the time of award, substitutions where items are specifically named will be considered only as a negotiated change in Contract Sum.

<u>Item Number</u> <u>Description</u> <u>Add/Deduct Amount</u>

If the Bidder does not suggest any material or equipment alternate, the Bidder MUST complete the following statement:

For the work outlined in this request for bid, the bidder does NOT propose any material or equipment alternate under the contract.

Signature of Authorized Representative of Bidder

## Section 3 - Time Alternate

If the Bidder takes exception to the time stipulated in Article III of the Contract, Time of Completion, page C-1, it is requested to stipulate below its proposed time for performance of the work. Consideration will be given to time in evaluating bids.

If the Bidder does not suggest any time alternate, the Bidder MUST complete the following statement:

For the work outlined in this request for bid, the bidder does NOT propose any time alternate under the contract.

Signature of Authorized Representative of Bidder

## Section 4 - Subcontractors

For purposes of this contract, a Subcontractor is anyone (other than the Contractor) who performs work (other than or in addition to the furnishing of materials, plans or equipment) at or about the construction site, directly or indirectly for or on behalf of the Contractor (and whether or not in privity of contract with the Contractor), but shall not include any individual who furnishes merely the individual's own personal labor or services.

For the work outlined in these documents the Bidder expects to engage the following subcontractors to perform the work identified:

Type of Work

Name and Address

Value of Subcontract

ASPHACT PATCHING THE BOSTWICK CO. INC. P.O. BOX 1243 ANN ARBOR, MI 48106

\$ 129,000.00

If the Bidder does not expect to engage any subcontractor, the Bidder MUST complete the following statement:

For the work outlined in this request for bid, the bidder does NOT expect to engage any subcontractor to perform work under the contract.

Signature of Authorized Representative of Bidder